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    Funktionsklasse: Ganzrationale - Trigonometrische -  Exponential - Funktion 
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e 2014 1.1 ft (x) = 1/2 x3- 3tx2 +  4(t2-1)x + 10t2 X   X X X X             X                       X X         1.2 ga (x) = a + a · cos(x)                           X   X                   X         2013 1 f(x) = 2 + 2 sin (π/2 x) 

ga(x) = ax + e-x   X               X X   X   X X     X X             X         2013 2-1 ft (x) = t/4 x2+ (1 + 4t)/t Z   X X         X X   X     X X   X               X     X   2-2 ha (x) = (x - 4a) · e-ax Z   X X                   X X         X           X   X     2012 1-1 s(x) = 1/2 x +1 + 2 sin(π/4 x)  Z       X X           X     X         X     X       X       1-2 fa (x) = ae2x-ex     X X         X X     X                         X         2012 2-1 ft (x) = t·(ex-t- x)  Z       X           X X   X X                     X         2-2 h(x) = 2 cos (π/4 x) + 5                  X                       X               X X 2011 1-1 gt (x) = t – e -x       X               X       X       X X         X         1-2 fa (x) = 1/a - a · sin(x)  Z       X             X   X X         X           X         2011 2-1 ft (x) = 1/t x4- 4x2 +  t + 1  Z   X X X X X   X     X       X                   X X       2-2 ga (x) = a · cos(2x) + 4                        X   X             X         X     X X 2010 1-1 f a (x) = ax · (x + 1) (x + 3)  Z   X X X X       X   X   X           X X         X         1-2 h (x) = ax · (x + 1)n (x + 3)        X                                                     1-3 g(x) = 3e-x                        X             X                 X     2010 2-1                           X   X X       X X                   2-2 g(x) = x + sin(x)  Z         X           X X X   x       X                     2-3 ht (x) = - 1/20 tx4 + 9/20tx3 - 1/2  x            X X X                                   X         
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 2009 1-1         X X X       X           X                             1-2 gk (x) = 1/4 x (x – 2k)2        X X                                         X X       1-3 ft (x) = (t – x2) e-x Z   X X X       X     X   X                       X         2009 2-1 ft (x) =  -1/t  x4 + x3 – x   Z         X     X X   X     X         X           X         2-2 gk (x) = cos (kx) + 2k       X X X                             X         X     X X 2008 1-1 ft (x) = - x3 + tx2 Z       X X X X       X   X           X           X X       1-2 h(x) = x + e 2 - x   S                     X X                                   2008 2-1 ft (x) = t/8 x3 - 3t/2 x2 + 4tx + 2 

gt (x) = 2 + 3t sin(π/4 x) Z X     X             X X X X     X   X           X         2-2 Schaubild h´(x)                             X                               2007 1-1 ft (x) = 1/12 x4 – t2/2 x2 + x + 2 Z   X     X     X     X       X       X           X X       1-2 ha (x) = a sin (x - a)       X X                   X           X         X         2007 2-1 fa (x) = e – ax ;  g(x) = fa(x - c) S     X       X X X   X X X   X         X         X         2-2 h(x) = cos ( π/4  x ) Z   X X         X         X                             X X 2006 1-1 Wertetabelle g(x); g´(x); g´´ (x)     X X X X                   X                             1-2 f(x) = ½ e2x - ex S     X X X     X X X X X         X                   X     2006 2-1 ft (x) = 1/t x3 – 2x2 + tx S     X X         X   X X   X         X X                   2-2 h(x) = a · sin (kx)                               X         X         X     X X 2005 1-1 fa (x) = 1/2a  x(x – a)2 Z     X X X     X X   X     X X       X           X X       1-2 g(x) = 1,5 · x · e - 0,3 x                           X                                 2005 2-1 f(x) = 2/5 x2 + cos(2x) Z X X X X X           X X     X                             2-2 2 Schaubilder (ganrat. + trigon.Fktn.)                               X         X     X         X X                                                                  42   Summe: 22 2 11 20 18 15 3 3 12 10 2 22 10 14 13 14 0 4 2 13 11 0 1 1 1 24 6 3 7 6 
 


